o
[N

<0 > (rad)
o
o [
[ [¢)]

.....

......

......................

[y

W[TTTT T

-2

-1 0 1

2 3

TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

o
N

........................

...............

..............

iy

-2

W[TTTT T

-1 0 1
TP n (PCA

2 3
to beamline)

—=— DQM_mkFit_QCDHighPt_base
—— DQM_mkFit_QCDHighPt_retrain

100

(23 e ]
o O

< 00, > (M)
D
o

(@)
TIT T T[T [TI [ IP [T T[T [T [ TTr Tt

20

8

........................

.............................

.............................

RatioI

[y

o
©
C

|
(¢ B B

-2

-1 0 1

2 3

TP n (PCA to beamline)

<opyp, > ()

.............................

..............................

(O R B R LR R RN R RNl RRR R RRRRN RN RN AR RARRN LRRL

-2

-1 0 1
TP n (PCAtob

2 3
eamline)

<od,> (um)

......................

.....................

......................

RatioI

iy

0.95

W

-2

-1 0 1
TP n (PCA

2 3
to beamline)



	Contents
	Page 1


